Poéetni operace s mnohoé€leny 1
1) 5x+%x—§x

2) —5x2+§x—%x2—4x

3) (4x°=5x"+6)+(10x’ —12x" + 4x)

4) (4x° =5x"+6)—(10x" —12x" +4x)

5) 2x-(7x*+3x-4)

6) (-2x)-(-8x" +5x—4)

7) Sa(%a—%j

8) 3x(5—9x)—4(2x—3)

9) (2y-3)-(5-2v)
10) (—4x+5)-(7—-3x)—-5(4—8x)

11) (—5a)-(3a+2)+(8—3a)(2a+4)
12) (-9x)-(=3x-2)—(5-3x)(-2x +6)
13) (7a-5)’

14) (3x+8y)’

15) 2(5-4x)+(2x+9)’

16) (—2x)(3-8x)—(2—5x)’

17) (2—a)-(-3-5a)—(3a+8)’

9x



)
3 4 145
Sx+—x——x=—
4 28
2)
-5x° —|——x—§x2 —4x= —ﬁx2 _18
7 5
3)

(4x" =527 +6)+(10x" —12x +4x) = 4x" =527 +6+10x° =12 +4x = 14x° ~17x" +4x +6
4)

(4x" =5x7 +6) = (10x* =122 + 4x) = 4x* = 55" + 6 —10x" +12x" —4x = —6x" + 7x" —4x +6
5)

2x+(7x% +3x—4) =14x + 6x* —8x

6)
(—2x)-(~8x" +5x—4) =16x* ~10x +8x
7)
Sa(éa —EJ =Ea2 —Ea
20 4) 2 4
8)
3x(5-9x)—4(2x-3) =15x—27x* —8x +12 = 27x* + Tx +12
9)
(2y—3)-(5—2y) =10y —4y* -15+ 6y =—-4y" +16y—15
10)

(—4x+5)-(7-3x)—5(4—8x) =—28x+12x* +35-15x—20+40x =12x* -3x +15

11)

(—5a)-(3a +2) +(8—3a)(2a +4) =—15a* =10a +16a+32 - 6a* —12a = 21a* — 6a + 32
12)

(—9x)-(-3x=2)—(5-3x)(-2x+6) = 27x" +18x —(~10x +30+6x* ~18x) =

=27x*+18x+10x—-30—6x> +18x = 21x* + 46x—30

13)
(7a—5)" =(7a)’ =2-7a-5+5% = 494> —70a + 25

14)

(3x+8y) =(3x)" +2-3x-8y+(8y)" = 9x” + 48xy + 64y
15)

2(5-4x)+(2x+9)" =10—8x+(2x)" +2-2x-9+9% =10 - 8x + 4x> +36x + 81 = 4x* + 28x +91
16)

(~2x)(3-8x) (2= 5x)" = =6x+16x" =(2* = 2-2-5x+(5x)" ) = =6x +16x" — (4~ 20x + 25x") =
=—6x +16x° —4+20x —25x* = -9x” + 14x — 4

17)

(2-a)-(-3-5a)~(3a+8)" =~6-10a+3a+5a> ~((3a)’ +2-3a-8+8") =

=—-6-10a+3a+5a" —(9a’ +48a+64) = -6 —10a +3a +5a" —9a" — 48a — 64 = —4a" =552~ 70



